ECUACIONES
EXPONENCIALES

A.- Resolver las siguientes ecuaciones

1) 3*%=81

2) 2¢7 =128

3) 5°%X=25

4) 37" =243

5) 5472 =125

6) 774 =49

7) 102 =100
8) 555 =1

9) 10™+°* =1000
10) 5773 =625

B.- Resolver las siguientes ecuaciones

1) 221 =0,5
2) 2743 20,25

3) 34)(—2 —

w |-

4) 3—5X+2 —

O |

5) 53)(—1 _

R

) 7% =1

7) 48+x — 215—3x
8) 10'*°* = 0,01
9) 10°7 =0,001
10) 5743 =0,2

C.- Resolver las siguientes ecuaciones

1) 7 =7
2) 9-5%-3 _ i/g

3) 12552 =325
4) 0,1°** =3/1000
5) 9> 1-{3

6) V3* 1 =9

7) 23 -16

8) 52X =125

2+ﬂx
3

X 3
9) 10 =301
10) 10**.10**.1072**3 = 0,1-0,001-10’

D.- Resolver las siguientes ecuaciones

1) 2% .82+ .167* =128°
2) 2757 3125°
0,2

3) 52%8 =625

102*-.100072*+3.10*
0,01°%.10°

5) 534 =625

6) 271 =256

7) 642 =216

8) 52x-1 :\/g

9) 102=0,01

10) 728 = 2401

=1000°

4)

E.- Resolver las siguientes ecuaciones

1) 9¢1=1

2) 3“1.3% =27
3) 0,01*° =10
4) 167813272 = 64°
0,172%.100*1

5 =10®
) 107
3x 2x+3 5x
6) 0,01 2&100 210 _100°
107*.10*
7) yaya'a* =a’
2x+1
8)33 =27
9) 7x2—3x+2 =1
3x-1

10) 1021 =100
11) 2X+5 :8X—1
12) 5x2—5x+6 -1

F.- Resolver las siguientes ecuaciones

1) 224+ 2% =80

2) 242X =72

3) 32 4.3 = _729
4) 5X+3 _gx+2 _ g

5) 4+ 454 =20

6) 21+ 2% 4 2x1 =28
13

16

8) 3 +3%+3 =117
9) 4*+ 41 +4% =336
10) 32434 =12

11) 10** —10*2 =999
12) 6-2*"°—9.2*"* =384
13) 72 +3.7%3 =154

7) 22 45.25 1=

G.- Resolver las siguientes ecuaciones

1) 9*-7-3-18=0

2) 9 -3-6=0

3) 4¥-2"-2=0

4) 4% 425 =3.2%+2

5) 32*Y) _18.3 1 9=0
6) 2X+2v* =3
7)2-37%4+31=0

8) 3 -3 =2

9) 22X —9.2¢1=_32
10) 7% 8. 7"+ 73 =0
11) 321 127 =82.3"
12) 3272 4+81=10-3"
13) 223 1 ¢ 112
14) 522 _3126.51+5=0

H.- Resolver las siguientes ecuaciones

1) 2¢* 4 2%+ 2*1 =28

2) 32 43¢ 43 43¢ 2120

3) 5+ 5 145 =775

4y 2742472 £ 2970 1 2474 = 960

B) 2% 4 2214 920 4 9243 | p202) _ 1984

l.- Resolver las siguientes ecuaciones

1) 3*'-8.3'=3

2) 221 6.2 4 4=0

3) 44248 =320

4) 7P 2.7 4 7=0
5) 5%2 +3.5%+2_100=0
6) 6*-9-6*+8=0

7) 32) _18.3¢ 4 9=0

8) 221 _5.2x142=0

J.- Resolver las siguientes ecuaciones

1) 3¥*2=81
2x3

2)45 =64

3) 73%°% = 2401

4) ex—l _ 32(x+1)

x+1

5) 328 =273
x+3

6) 54 =25

7) 4x2—11x+30 =16
1-3x

8) 6 4 =1296

9) 9)(72 — 33X+l

10) 53><+l — 25><—5



%’('} 22" g s
@ = E S
2‘('?”’3(’ 2 = 2 E)_ s
)('8:(.( ¥+7=7‘ ﬁ'x:?
, <=2 e
= W =]
@ Tx+Y 3 1»3)(
1 - U9 ) - (06
24 - 2 7B oe 2
2% ¢ =L “3x=0
yu;_- [ [x=2|
2x-1 -bx+2
@g 205 ® 2 zﬂ 0,25 @3”?‘
ge-1 ) N
Q, -2 2 - y
sz—/{: l" Z-*Ww‘ﬁ ) _L—Z
?)(—I’-" hxts = -
X 9 “lx LRl J /?
5 ¥z My -4-3x
@ 5 Zx-1 / @ S4x A5 3x @ 10?4%_, 0,04 5 -02
- —_ z,'_)’;(_(l:l Lll = 4 -%x _ /
25 3 7+x = -¢ S < F
; - ~1§5-9X
?J)("( ) -2 ——3KF? = (é“‘LZK—IS- L= -9 -y -Ix = -/
2y - ’3}(:22 S‘x;'; Y = Cex e 3
X~~~ <73 x= -5 X~
C & <
- x84 2 33— x>y o g zx—l?
‘?‘:Kf‘z M ﬁ“ GD Z/ 6&3: (f; lzgx - \/ - 014 = J[‘;I/), ? :/3_‘,
g e %1 -6 7 -X-Y ] 4x—¢ -5
S¥ ?t:{% q"3:zq 5'% = 5 2 0 - b = 33
- 2v _C = _ 4
§x+2::’2 Sp-d= = R S ~xvu=% by-t= 3,
X +4 = ) ~Zx-)2 =3 9X-18 = & “Cy-10 23 (2¢~-6 = 1
lox ~ =5 \ ~Tox =Sl§ 3 Gx = 20 “Cys 2% t2x = ¥
: o5 -2 - ,
v - Kzmzn> g x= %/ \ X:,fa% x= Wiz
1 bk
\/26,(—!/ - ? @QXQFJX—,Q -5 X4 125 @DIO Xq-t- %,k, 35/‘? roq;c.;x-‘-lﬁg' 103 A
sl T Ugee Yy | x#X=3 , y -
8% 23 i S 2 . VR 2= B
Lax—bzo | NPT 772 | e
5% = & ¥z L{/1 x—_’»,{ )(:v}/' x=1 2xz.wx+»(: o 3)’(‘?14/3
Gyl = Y x=!) ke -4
ix < IS
x= 3




D' \ 2xt{( X 3 ~ax _ Lx+2 ‘ ,2%-8’» 2¢
A _ 5. 5 <6
/62-2 e = 123 . - 2,257

X 6x43 =Hi _ 2?—' D,Z x 2)( = 4
A bk X IS] 2x: 12
] . O 6 = 5 s
yrGxEI-UX =) 2 [ =¢
Ix = ¥ Gx+2 = 1S
[)(:Q /w)(: /2
@ < it Bz
“2x45 y Ixt
7 Yy Fx+ N
b .loo - 10 g @’\E‘)S Y s P2 s asc] 6 =216
“"—M"?j— % = {0 B Sedf= F 3)(’&?:;7
0,04 .f() Zx-l = 4 _— g,(:j
ox  —ox+3 whk 3 ly (= P8 X =4 xX=A/e
o« |0 o <10 - 16 = lo
2x - x4 7+ yetx k-5 <18
Nogrmie B e ¢ ———
s " @@ 2%¢3
C— { x3 <
| X= -4 7 = o0l 0o -/obx_ 1066 d
& 2% C?) sx-1 ' 0’7 2%+ ¥ lo=% - fo™** i
E s b~ =00 s 4ol ox o6 S (2
ST sx-t _ -F Ix+€ o”-10 -1 _m
= 4 =
wA Yy |10 10 o S o
5 = 5 Sy <2 & -7 Ix4% = d()»ex+ux+6+sz'x+z _ IOfZ
2x-1 = g— Sx = 0 1K = =& [Dz;u-s': I'OIZ
hx- = 4 X= 0 L,.————v){h‘ -2 | 2x+§ =2 /‘ZX-‘-(/;'!X:Z]
Ly = 3
x =3/ |
E @ O,
4 xg—'/ 1 x
A 9 =A 2 s 2 el 0,04
sz_/jo 2%-) _ 3:5 ’52»6
P XA 2%-1= 3 - 2x-6
2x= 4
- = &t
[X.: 2.‘ ZX L
-2 Yx-f 5 — -2 =
04 100 * =
_LP}—O—:E__— = IO @\/GYW:Q X =
8x-2 = .
mzx 10 - /o \/ax ax‘a,‘:Q’? @3
-2 e _ .1
107 =10 Va/a% -Q
-2 =5 —3x  _ T
o _2; (%o - a
lox < = 1 ’_})(
2 _ -
X= 7o Ja™ ‘ao¥:a
X ; Ix=56 x=%



F/ 6) @ @)-;«3_ S)<+2'

@ 2x+2+2)l =S 2**_2+ X =31 oX2_ Q-?)XH:-»-:]’Lﬁ 5 =y
4
4.9%+2" = %0 AR q.3% - [2-3" = -329 (965X 25-§% = Y
2x (Z{‘f"{) - & Zy(?*i)z"qz 8" (el—lzgc’:‘ _:}?c? - 6)((42_3 _25‘): [/
PP 2¥= = g% =721 g B L
g A b ¥ ! ¥ 3 X =B ¥ - i B jo0 / S 2.2
e dedt | =TT ) gt e | ex g e
[x =4 X=73 X=5
@ hxrﬁ 0 27 9% 42 &"28 e ZXH,= [_f e '3)(—3 gxi I3
L¥(4Selt) = 22 Z(etiv £)=28 2,((2_2+§) D 3x(4+_l§+;__) - 0¥
T Al T o <. 13
2"°+2% 2 ¥ 22 3 7 M7
_ 2o 2B .S 16 2 9
T % . 23? 2% = 5;&3—/ = 1%
¥ L - ¢ 3.8 [X=Y
4* < Zu /X’—S 2%_%;/;37 //_—j
X : -3 G2 ] e XHY
@ 1 v 4 oo 298, 2 | 0" e U g Z9-2 = 3%
+ + =
uy _ wlin_ 1 Y-9q x/r. 95 g 94) = 3&Y
Liy(’“f’f-ﬁ-i-) =236 BX(33+3 )=lz |l (10- )= | 27(62 1.2)
4 1o x - 12 16%- Gaa- 22 0% . Yg = 38
LX, 61Ut - 336 108 999 g
¥z g3c. 16 G — [x=3
y 2 gxﬁ 1 fx=-2
Ax: [{ d =y - q O
‘ ’ \ 5 o) x=?
2 3 @ xS 2 _
@_:}X +3,:{><+3__/5(7/ 37@ 3&;@) y = =Gl 5 Z_ 2“(;’
2 %] = o3 ax-¢ _
?Y(? 43-1 ) ‘]\SL/ 33,(_.’2: 3‘_’ L/z% - é{a ? ol
¥, fo18 =I5V PR’ w53 ?x«?; ()
x _ IS4 ) 3 Ix T
(TS 3x = & 23215 (77
e d %1l X=2 2% 2 1 %
@ | 7 z()q/l) @ ox=3 pay : 4 X=7 X«L” L% O 55'¢
= —i1x
e = 3 c 23 2 S v-95 3 Z/ :/L C L/:/z?é
wd= T b xH 9 i T 7 - 5!
~x =3 =3 owes - 4 g
~3X
I el e limeo 2
4~ TP P
X=4 g xc i |9 <
(45 = ) 3y =LS
[X”Yi | _l/+\/=y .
2 fx--5



£2-gul=jo=0

2/2)‘_?'2)(*4 :_’3?’
2«»('{9‘ 27( + 32 :O




(4 %)
1\2 R +2 '25’ g A 3¥+ 7. 120
g 2Xs L. =28 G.3X+2.3% 48" (L X = (7o
29‘(24“4) 22 9}((%3”4,2//: /26
6’2%1‘28‘ 9YJ,4—0-:/20
z X 3/ 4.3
02{; Qg..-?—' g * 2 ‘7;
) X 3} ax - Z
L% L HCE 4
[ X=3 /’;(“},Z
< - @ : o} BheS (x9)
AR L) P R R
5 (3 Lad) =738 g g%, 2 2= T
2 Y %
s¥. L =335 ,QW J+//+i+i+i):/7g‘q
Y 2 U (G
5% A s 277, ler8* Uez44 _ A58
oF . e 2 3 l& 7% [95Y [6
< 855 Q7 3 16%4 - 7
X3 0 L 6 2K \0
Q x: 3/}'61'['( > Q - &
=4 '3 2A B -5
@ QX +2 ”'”2 F = 9Co g
x >t

2¥ g+q+2+¢ ;%&
/4 )
2% 1S 960 2% 740 (6
(¢ a /},7
'?X:a’{lo g%



?,><~( A 2 26 x=! 5 X3
/O '3 "3 OZ '-6"2 4":0 OZ/X4[}Z_32L)
( ) _;‘:’.3)(: % 2%'("2")2—3 274¢=0 22”1_#2”3: 3 2o
9% x)2, 3.2 =520
Cobion 351 Gunbio : & -1 "(2)
2 5 ‘ i2_3£4({:0 Gm[tug"t
-—?* '?:"t—-.g _0 2‘2 ' 46 .}?é’E?d;&
t?_gt-9=0 th-6es9=2 L2y gt =T 72
_ +
- 2)4/644 6 - éb/?‘: 32 -2y
a SHO_ G ~_ ety 2
Lo §Peo _ s = L. Gy (¢ /32
- = -0 2 - Ng-?_ f: :
2 = = o b 2 2{2
3X- 2% - 2; y 9X. 4 £- <'Z%; 9
- 5l _2-
5)(;3 A/ 2% 4° E_;{] ?.E—”f--—/o
[X=2 [xX<? 2% g? gz{.,,o
: X
@ = . 2res no
wbA _bx+1 Y. |
:72>(-M“2',71 P Og3%+’i_+ 2.6 -i.f'D:O }X
}-G“)z_ - 43=0 26 (s¥) s 125 (%) -100 70 67 261809
(ML;'& ; ?K:t @Q\‘J 5 53)(_: t GX——j—)-(—- +?: o
FET Ut +3 = QgtHZStz—lw =o 6 2
Q - Cow»%—(o: G :t
te-zp +459 Fet =47
o 22y ptet-vze o tog T
L PVETT ANT fesb-7=
el o c g i, YT
7= , =3 t= /-"_;*G;'} - A é___ o |
[X=0] N\ . .- L e 22 I
@ — ~"¢ 3 2 Bl ]
= R P )( -
326@-“)' 2 3k+cr:o ﬁ’?y:d_ p ,ﬁx;g g Xz G ={- %=0
S X € -l x-! éx-’—-~°l NI
32 g (D g -5 T #2529
7'(3‘\1—1%'3““1 =0 (Q")i s 2Xulz 0
Calyos: 9t 2 ::
7 g =9 g% =
G- (gt + . L, =
'?’e“’(’ '?J w;—_?« "’/: .QX’L/
0 ) _ -
f = _‘;2_!—4——41 A t?,skti(;‘} @
’ . ohix-l6 oKX=
7 -1, X=0 e Z=—=,
A
= <52



